sep12 Alfa Tsys vs za Pixel O Pol A sepl? Alfa Tsys vs za Pixel O Pol B
4571 ! T T 45 T T T
40F . 40F
%, 35F . %, 35F
g i g
: y ] :
301 ] 301
25 1 25 1
6] S 10 15 20 6] S 10 15 20
02010 02048 “ “
sep12 Alfa Tsys vs za Pixel 1 Pol A sepl? Alfa Tsys vs za Pixel T Pol B
4571 ! T T 45 T T T
40} B 40} + i
i %&W [ + ]
301 B 301 B
25 1 25 1
6] S 10 15 20 6] S 10 15 20
za za
sepl2 Alfa Tsys vs za Pixel 2 Pol A sepl? Alfa Tsys vs za Pixel 2 Pol B
4571 ! T T 45 T T T
40 40 .
& 35F 5 35k ]
300 1 300 1
25 1 25 1
6] S 10 15 20 6] S 10 15 20
za za
sepl2 Alfa Tsys vs za Pixel 3 Pol A sepl? Alfa Tsys vs za Pixel 3 Pol B
4571 ! T T 45 T T T
40 40 .
5 35k . 5 35k .
300 1 300 M .
25 1 25
6] S 10 15
za

20

za

10 15 20



sepl12 Alfa Tsys

vs za Pixel 4 Pol A sepl? Alfa Tsys vs za Pixel 4 Pol B
4571 T T 45 T T T
40} B 40} i
%, 35F ] %, 35F .
) JF ) +
o [ o [ JF
[ [ X
301 ] 301 B
25 1 25 1
6] S 10 15 20 6] S 10 15 20
02010 02048 “ “
sep12 Alfa Tsys vs za Pixel 5 Pol A sepl? Alfa Tsys vs za Pixel 5 Pol B
4571 ! T T 45 T T T
40} B 40} i
X 35F 1 X 35F 1
O ] o 4
o [ i o [ i
°f M { i M {
25 1 25 1
6] S 10 15 20 6] S 10 15 20
za za
sepl2 Alfa Tsys vs za Pixel 6 Pol A sepl? Alfa Tsys vs za Pixel 6 Pol B
4571 ! T T 45 T T T
40 40 .
X 35F X 35F 1
O o 4
o [ o i
5 L
25 25 1
6] S 10 15 6] S 10 15
za za

20



